

Tomáš Kepka

Λ , R -transitive groupoids

Acta Universitatis Carolinae. Mathematica et Physica, Vol. 16 (1975), No. 2, 71--77

Persistent URL: <http://dml.cz/dmlcz/142370>

Terms of use:

© Univerzita Karlova v Praze, 1975

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

Λ , R -Transitive Groupoids

T. KEPKA

Department of Mathematics, Charles University, Prague

Received 4 March 1974

1. Introduction

If M is a set then S_M will be the monoid of all mappings of M into M . Let G be a groupoid. Define

$$\begin{aligned} \mathcal{L}_G &= \{(\lambda, \varrho) \mid \lambda, \varrho \in S_G, \lambda(xy) = \varrho(x) \cdot y \ \forall x, y \in G\}, \\ \mathcal{R}_G &= \{(\lambda, \varrho) \mid \lambda, \varrho \in S_G, \lambda(xy) = x \cdot \varrho(y) \ \forall x, y \in G\}, \\ \mathcal{M}_G &= \{(\lambda, \varrho) \mid \lambda, \varrho \in S_G, \lambda(x) \cdot y = x \cdot \varrho(y) \ \forall x, y \in G\}, \\ \Lambda_G &= \{\lambda \mid \lambda \in S_G, \exists \varrho \in S_G(\lambda, \varrho) \in \mathcal{L}_G\}, \\ \Lambda_G^* &= \{\lambda \mid \lambda \in S_G, \exists \varrho \in S_G(\varrho, \lambda) \in \mathcal{L}_G\}, \\ R_G &= \{\lambda \mid \lambda \in S_G, \exists \varrho \in S_G(\lambda, \varrho) \in \mathcal{R}_G\}, \\ R_G^* &= \{\lambda \mid \lambda \in S_G, \exists \varrho \in S_G(\varrho, \lambda) \in \mathcal{R}_G\}, \\ \Phi_G &= \{\lambda \mid \lambda \in S_G, \exists \varrho \in S_G(\lambda, \varrho) \in \mathcal{M}_G\}, \\ \Phi_G^* &= \{\lambda \mid \lambda \in S_G, \exists \varrho \in S_G(\varrho, \lambda) \in \mathcal{M}_G\}, \\ \tilde{\Lambda}_G &= \{\lambda \mid \lambda \in S_G, (\lambda, \lambda) \in \mathcal{L}_G\}, \\ \tilde{R}_G &= \{\lambda \mid \lambda \in S_G, (\lambda, \lambda) \in \mathcal{R}_G\}, \\ \tilde{\Phi}_G &= \{\lambda \mid \lambda \in S_G, (\lambda, \lambda) \in \mathcal{M}_G\}. \end{aligned}$$

The mappings from $\Lambda_G(R_G, \Phi_G)$ are sometimes called the left (right, middle) regular mappings. Some properties of these regular mappings can be found e.g. in [1], [3] and [4].

Let G be a groupoid. We shall say that G is Λ -transitive if for all $x, y \in G$ there exists $\lambda \in \Lambda_G$ with $\lambda(x) = y$. Similarly we define the Λ^* -transitivity, etc.

A groupoid G is said to be a μ -homotope of a groupoid $G(\circ)$ (having the same underlying set), provided there exist two mappings α, β of G onto G such that $xy = \alpha(x) \circ \beta(y)$ for all $x, y \in G$.

If G is a groupoid and $x \in G$ then $L_x(R_x)$ will be the left (right) translation by x (i.e. $L_x(y) = xy, R_x(y) = yx$).

2. Main results. The following three lemmas are obvious.

2.1. Lemma. Let G be a groupoid and $\lambda, \varrho \in S_G$. Then:

- (i) $(\lambda, \varrho) \in \mathcal{L}_G$ iff $\lambda R_x = R_x \varrho \ \forall x \in G$.
- (ii) $(\lambda, \varrho) \in \mathcal{L}_G$ iff $\lambda L_x = L_{\varrho(x)} \ \forall x \in G$.

- (iii) $(\lambda, \rho) \in \mathcal{R}_G$ iff $\lambda L_x = L_x \rho \ \forall x \in G$.
- (iv) $(\lambda, \rho) \in \mathcal{R}_G$ iff $\lambda R_x = R_{\rho(x)} \ \forall x \in G$.
- (v) $(\lambda, \rho) \in \mathcal{M}_G$ iff $L_x \rho = L_{\lambda(x)} \ \forall x \in G$.
- (vi) $(\lambda, \rho) \in \mathcal{M}_G$ iff $R_x \lambda = R_{\rho(x)} \ \forall x \in G$.

2.2. Lemma. Let G be a groupoid. Then:

- (i) The sets $\mathcal{L}_G, \mathcal{R}_G$ are submonoids in the monoid $S_G \times S_G$.
- (ii) The set \mathcal{M}_G is a submonoid in the monoid $S_G \times S_G^o$ (S_G^o is the opposite monoid of S_G).
- (iii) The sets $\Lambda_G, \Lambda_G^*, R_G, R_G^*, \Phi_G, \Phi_G^*, \tilde{\Lambda}_G, \tilde{R}_G$ are submonoids of the monoid S_G .
- (iv) If $\lambda, \rho \in \tilde{\Phi}_G$ and $\lambda \rho = \rho \lambda$, the $\lambda \rho \in \tilde{\Phi}_G$.
- (v) $\Lambda_G^* \cap R_G^* \subseteq \tilde{\Phi}_G$.

2.3. Lemma. Let G be a commutative groupoid. Then:

- (i) $\mathcal{L}_G = \mathcal{R}_G, \Lambda_G = R_G, \Lambda_G^* = R_G^*$.
- (ii) If $(\lambda, \rho) \in \mathcal{M}_G$ then $(\rho, \lambda) \in \mathcal{M}_G$. In particular, $\Phi_G = \Phi_G^*$.
- (iii) $\Lambda_G^* \subseteq \tilde{\Phi}_G$.

2.4. Proposition. Any Λ -transitive (R -transitive) groupoid is a right (left) division groupoid.

Proof. Let G be a Λ -transitive groupoid and $x, y, z \in G$ be arbitrary. There is $(\lambda, \rho) \in \mathcal{L}_G$ such that $\lambda(zx) = y$. Hence $y = \lambda(zx) = \rho(z) \cdot x$. Similarly for the second case.

2.5. Proposition. Let G be such a groupoid that $G \cdot G = \{xy \mid x, y \in G\} = G$.

Then:

- (i) $\lambda \rho = \rho \lambda \ \forall \lambda \in \Lambda_G \ \forall \rho \in R_G$.
- (ii) If $(\lambda, \rho), (\sigma, \tau) \in \mathcal{L}_G(\mathcal{R}_G)$ and if $\rho \tau = \tau \rho$, then $\lambda \sigma = \sigma \lambda$.
- (iii) If G is $\tilde{\Phi}$ -transitive (Φ^* -transitive) then G is a left (right) division groupoid.

Proof. (i) Let $y \in G$ be arbitrary, $y = ab$ for some $a, b \in G$. We have $\lambda \rho(y) = \lambda \rho(ab) = \lambda(a \cdot \beta(b)) = \alpha(a) \cdot \beta(b) = \rho(\alpha(a) \cdot b) = \rho \lambda(ab) = \rho \lambda(y)$, where $(\lambda, \alpha) \in \mathcal{L}_G$ and $(\rho, \beta) \in \mathcal{R}_G$.

(ii) $\lambda \sigma(xy) = \rho \tau(x) \cdot y = \tau \rho(x) \cdot y = \sigma \lambda(xy) \ \forall x, y \in G$.

(iii) Let G be $\tilde{\Phi}$ -transitive and $x, y \in G$. There are $a, b \in G$ and $(\varphi, \psi) \in \mathcal{M}_G$ such that $ab = y$ and $\varphi(x) = a$. Hence $y = ab = \varphi(x) \cdot b = x \cdot \psi(b)$. Similarly, if G is Φ^* -transitive.

2.6. Proposition. Let in a groupoid G there be at least one element x such that the mapping R_x is one-to-one. Then:

- (i) $\varphi \lambda = \lambda \varphi \ \forall \varphi \in \Phi_G \ \forall \lambda \in \Lambda_G^*$.
- (ii) If $(\lambda, \rho), (\sigma, \tau) \in \mathcal{L}_G$ and $\lambda \sigma = \sigma \lambda$, then $\rho \tau = \tau \rho$.
- (iii) If G is Λ -transitive then G is Λ^* -transitive.
- (iv) If G is R^* -transitive then G is a right cancellation groupoid.
- (v) If $(\varphi, \psi), (\alpha, \beta) \in \mathcal{M}_G$ and $\psi \beta = \beta \psi$, then $\varphi \alpha = \alpha \varphi$.

Proof. (i) Let $(\rho, \lambda) \in \mathcal{L}_G, (\varphi, \psi) \in \mathcal{M}_G$ and $y \in G$ be arbitrary. We may write $R_x \lambda \varphi(y) = \lambda \varphi(y) \cdot x = \rho(\varphi(y) \cdot x) = \rho(y \cdot \psi(x)) = \lambda(y) \cdot \psi(x) = \varphi \lambda(y) \cdot x = R_x \varphi \lambda(y)$. Hence $\varphi \lambda(y) = \lambda \varphi(y)$.

- (ii) $\varrho\tau(y) \cdot x = \lambda\sigma(yx) = \sigma\lambda(yx) = \tau\varrho(y) \cdot x$.
- (iii) Let $a, b \in G$ be arbitrary. There is $(\lambda, \varrho) \in \mathcal{L}_G$ such that $\lambda(ax) = bx$. However $R_x(b) = bx = \lambda(ax) = \varrho(a) \cdot x = R_x\varrho(a)$, and therefore $\varrho(a) = b$.
- (iv) If $ay = by$ for some $a, b, y \in G$, then $ax = a \cdot \varrho(y) = \lambda(ay) = \lambda(by) = bx$, where $(\lambda, \varrho) \in \mathcal{R}_G$ is such that $\varrho(y) = x$. Hence $ax = bx$, and consequently $a = b$.
- (v) Obvious.

2.7. Proposition. Let in a groupoid G there be at least one element x such that the mapping L_x is one-to-one. Then:

- (i) $\varphi\lambda = \lambda\varphi \forall \varphi \in \Phi_G^* \forall \lambda \in R_G^*$.
- (ii) If $(\lambda, \varrho), (\sigma, \tau) \in \mathcal{R}_G$ and $\lambda\sigma = \sigma\lambda$, then $\varrho\tau = \tau\varrho$.
- (iii) If G is R -transitive then G is R^* -transitive.
- (iv) If G is Λ^* -transitive then G is a left cancellation groupoid.
- (v) If $(\varphi, \psi), (\alpha, \beta) \in \mathcal{M}_G$ and $\varphi\alpha = \alpha\varphi$, then $\psi\beta = \beta\psi$.

Proof. The proof is dual to that of 2.6.

2.8. Proposition. Let G be a Λ^* -transitive (R^* -transitive) groupoid and let there be at least one element $x \in G$ such that the mapping $R_x(L_x)$ is onto G . Then G is Λ -transitive (R -transitive).

Proof: For the first case only. If $a, b \in G$ are arbitrary, then there are $y, z \in G$ and $(\lambda, \varrho) \in \mathcal{L}_G$ such that $yx = b, zx = a$ and $\varrho(z) = y$. Hence $\lambda(a) = \lambda(zx) = \varrho(z) \cdot x = yx = b$.

2.9. Lemma. Let G be an R -transitive (Λ -transitive) groupoid. Then:

- (i) Any mapping from $\Lambda_G(R_G)$ is a mapping onto G .
- (ii) If $\lambda, \sigma \in \Lambda_G(R_G)$ and $\lambda(a) = \sigma(a)$ for some $a \in G$, then $\lambda = \sigma$.

Proof. For the first case only.

- (i) G is a left division groupoid (by 2.4) and 2.1 (ii) yields the result.
- (ii) Since G is a left division groupoid, $G \cdot G = G$. Let $x \in G$ be an element. By the hypothesis there is $\alpha \in R_G$ with $\alpha(a) = x$. Applying 2.5 (i) we get $\lambda\alpha = \alpha\lambda$ and $\sigma\alpha = \alpha\sigma$. Hence $\lambda(x) = \lambda\alpha(a) = \alpha\lambda(a) = \alpha\sigma(a) = \sigma\alpha(a) = \sigma(x)$.

2.10. Theorem. Let G be a Λ and R -transitive groupoid. Then:

- (i) G is a division groupoid.
- (ii) Λ_G and R_G are mutually isomorphic groups and $\text{card } \Lambda_G = \text{card } R_G = \text{card } G$.
- (iii) Any mapping from Λ_G and R_G is a permutation.

Proof. (i) See 2.4.

- (ii) First we show that Λ_G is a group. To this purpose it is enough to prove that it is a right division groupoid (since Λ_G is a monoid). For let $\lambda, \varrho \in \Lambda_G$ and $x \in G$ be arbitrary. There is $\tau \in \Lambda_G$ such that $\tau\lambda(x) = \varrho(x)$. However $\tau\lambda \in \Lambda_G$ and 2.9 yields now $\tau\lambda = \varrho$. Similarly we can prove that R_G is a group. Further, for any $\lambda \in \Lambda_G$ there is a uniquely determined $\varrho \in R_G$ with $\lambda(x) = \varrho(x)$ (by the hypothesis and by 2.9). Setting $\varrho = A(\lambda)$ we get, for all $\alpha, \beta \in \Lambda_G$, $A(\alpha\beta)(x) = \alpha\beta(x) = \alpha A(\beta)(x)$. But $\alpha A(\beta) = A(\beta)\alpha$ due to (i) and 2.5 (i). Hence $A(\alpha\beta)(x) = \alpha A(\beta)(x) = A(\beta)\alpha(x) = A(\beta)A(\alpha)(x)$ and so $A: \Lambda_G \rightarrow R_G$ in an antihomomorphism. Using 2.9, we may check easily that A is

a biunique mapping. Thus the groups A_G and R_G are antiisomorphic and therefore isomorphic. The equality $\text{card } G = \text{card } A_G = \text{card } R_G$ is obvious from 2.9.

(iii) Since A_G and R_G are groups having the identity mapping 1_G as the unit element, it is evident that every mapping from A_G or R_G is a permutation.

2.11. Theorem. Let G be a A^* and Φ -transitive groupoid and let there be at least one element $x \in G$ such that the mapping R_x is one-to-one. Then:

- (i) A_G^* and Φ_G are mutually isomorphic groups and $\text{card } G = \text{card } \Phi_G = \text{card } A_G^*$.
- (ii) Any mapping from A_G and Φ_G is a permutation.
- (iii) If $G \cdot G = G$ then G is a left division groupoid.

Proof. The proof is similar to that of 2.10.

For ease of reference we give the following proposition; it is proved in [4, Theorem 9].

2.12. Proposition. Let G be a groupoid. Then the following are equivalent:

- (i) G is a μ -homotope of a groupoid possessing a unit.
- (ii) There are two elements $x, y \in G$ satisfying

$$\begin{aligned} &(\alpha) L_x, R_y \text{ are onto,} \\ &(\beta) \forall u, v, z \in G, uy = vy \text{ implies } uz = vz, \\ &(\gamma) \forall u, v, z \in G, xu = xv \text{ implies } zu = zv. \end{aligned}$$

2.13. Theorem. Let G be a groupoid. Then the following conditions are equivalent:

- (i) G is $A, A^*, R, R^*, \Phi, \Phi^*$ -transitive.
- (ii) G is A, A^*, R, R^* -transitive.
- (iii) G is a A^*, R^* -transitive division groupoid.
- (iv) G is A^*, R^* -transitive and there exist $x, y \in G$ such that the mappings L_x, R_y are onto.
- (v) G is a μ -homotope of a group.

Proof. (i) implies (ii) and (iii) implies (iv) trivially.

(ii) implies (iii) by 2.4.

(iv) implies (v). We show that the elements x, y satisfy $(\alpha), (\beta), (\gamma)$ from 2.12. For let $uy = vy$ and $z \in G$. There is $(\lambda, \rho) \in \mathcal{R}_G$ with $\rho(y) = z$. So $uz = u \cdot \rho(y) = \lambda(uy) = \lambda(vy) = v \cdot \rho(y) = vz$ and we have proved (β) . Similarly (γ) . Thus G is a μ -homotope of a groupoid $G(\circ)$, which has a unit. By [4, Theorem 7], $G(\circ)$ must be a group.

(v) implies (i). By the hypothesis there are two mappings α, β of G onto G and a group $G(\circ)$ such that $ab = \alpha(a) \circ \beta(b)$ for all $a, b \in G$. For $a, u \in G$ let $\gamma_u(a) = u \circ a, \delta_u(a) = a \circ u$. Then obviously $(\gamma_u, \sigma_u) \in \mathcal{L}_G, (\delta_u, \tau_u) \in \mathcal{R}_G$ and $(\lambda_u, \rho_u) \in \mathcal{M}_G$ where $\sigma_u, \tau_u, \lambda_u, \rho_u \in \mathcal{S}_G$ are arbitrary mappings satisfying:

$$\gamma_u \alpha = \alpha \sigma_u, \delta_u \beta = \beta \tau_u, \beta \rho_u = \gamma_u \beta, \alpha \lambda_u = \delta_u \alpha.$$

From this we can easily deduce that G is a $A, A^*, R, R^*, \Phi, \Phi^*$ -transitive groupoid.

2.14. Corollary. Let G be a groupoid and let there be $x, y \in G$ such that the mappings L_y, R_x are one-to-one. Then the following are equivalent:

- (i) G is A, Φ -transitive.
- (ii) G is R, Φ^* -transitive.
- (iii) G is A, R -transitive.

- (iv) G is $\mathcal{A}, \mathcal{A}^*, R, R^*, \Phi, \Phi^*$ -transitive.
- (v) G is a quasigroup isotopic to a group.

Proof. (i) implies (v). G is a division groupoid (by 2.4 and 2.5) and hence from the hypothesis and from 2.12 we see that G is a μ -homotope of a groupoid $G(\circ)$ having a unit. However (see [4, Theorem 7]) $G(\circ)$ is a group and so G is \mathcal{A}^* and R^* -transitive according to 2.13. Further, by 2.6 and 2.7 G is a cancellation groupoid and consequently a quasigroup.

- (ii) implies (v). Similarly.
- (iii) implies (v) by 2.6, 2.7 and 2.13.
- (v) implies (iv), (iii), (ii) and (i). See 2.13.

2.15. Remark. The author does not know, whether there exists a \mathcal{A}, R -transitive groupoid not being a μ -homotope of a group.

3. $\tilde{\mathcal{A}}$ -transitive groupoids. If G is a groupoid then let $A_G(B_G)$ be the submonoid in S_G generated by all the mappings $R_x(L_x), x \in G$.

3.1. Lemma. Let G be a $\tilde{\mathcal{A}}$ -transitive (\tilde{R} -transitive) groupoid and let there be $a, b \in G$ such that $ab = a(ba = a)$. Then b is a right (left) unit in G .

Proof. Given $x \in G$ there is $\lambda \in \tilde{\mathcal{A}}_G$ with $\lambda(a) = x$, and hence $xb = \lambda(a) \circ b = \lambda(ab) = \lambda(a) = x$.

3.2. Theorem. Let G be a groupoid. Then the following are equivalent:

- (i) G is a $\tilde{\mathcal{A}}$ -transitive division groupoid and a right quasigroup.
- (ii) G is $\tilde{\mathcal{A}}$ -transitive and there is $a \in G$ such that the mapping L_a is onto.
- (iii) G is a μ -homotope of a group and G possesses a right unit.
- (iv) There are a group $G(\circ)$ and a mapping δ of G onto G such that $xy = x \circ \delta(y)$ for all $x, y \in G$.

Proof. (i) implies (ii) trivially.

(ii) implies (iii). Since L_a is onto, there is $j \in G$ with $L_a(j) = a$, and consequently j is a right unit in G (by 3.1). Further, the pair a, j satisfies the conditions $(\alpha), (\beta), (\gamma)$ from 2.12. Indeed, (α) and (β) are obvious since j is a right unit and L_a is onto. For (γ) we use the $\tilde{\mathcal{A}}$ -transitivity. If $au = av$ for some $u, v \in G$ and $z \in G$ is an element, then $z = \lambda(a)$ where $\lambda \in \tilde{\mathcal{A}}_G$ is suitable. Hence $zu = \lambda(a)u = \lambda(au) = \lambda(av) = zv$. Thus G is a μ -homotope of a groupoid with a unit and an application of [4, Theorem 7] yields (iii).

(iii) implies (iv). We have, for all $x, y \in G, xy = \alpha(x) \circ \beta(y)$; $G(\circ)$ is a group and α, β are mappings of G onto G . Since G has a right unit $j, xj = x = \alpha(x) \circ \beta(j)$ for all $x \in G$. Hence $\alpha(x) = x \circ (\beta(j))^{-1}$ and $xy = \alpha(x) \circ \beta(y) = x \circ (\beta(j))^{-1} \circ \beta(y) = x \circ \delta(y)$.

(iv) implies (i). Obvious.

If G is a quasigroup then $C_G(D_G)$ will be the right (left) multiplication group corresponding to G .

3.3. Theorem. Let G be a groupoid. Then the following are equivalent:

- (i) G is a quasigroup and $C_G = \{Rx \mid x \in G\}$ (i.e. for all $a, b \in G$ there are $c, d \in G$ with $R_a R_b = R_c$ and $R_a^{-1} = R_d$).
- (ii) G is a division groupoid, $A_G = \{R_x \mid x \in G\} \cup \{1_G\}$ (i.e. for all $a, b \in G$ there is $c \in G$ with $R_c = R_a R_b$), and there exists $x \in G$ such that the mapping L_x is one-to-one.

- (iii) There are a group $G(\circ)$ and a permutation δ of the set G such that $ab = a \circ \delta(b)$ for all $a, b \in G$.
- (iv) G is a quasigroup possessing a right unit and G is isotopic to a group.
- (v) G is a $\tilde{\Lambda}$ -transitive groupoid and there exist $x, y \in G$ such that L_x is onto and L_y is one-to-one.

Proof. (i) implies (ii). It is obvious, since $\{R_x \mid x \in G\} \cup \{1_G\} \subseteq A_G \subseteq C_G$.

(ii) implies (iv). By the hypothesis there exists a binary operation \circ on the set G with the property $c \cdot (a \circ b) = (ca) \cdot b$ for all $a, b, c \in G$. We can write, for all $u, v, z \in G$, $x(u \circ (v \circ z)) = (xu)(v \circ z) = (xu \cdot v)z = (x(u \circ v))z = x((u \circ v) \circ z)$. However the mapping L_x is one-to-one, and so $u \circ (v \circ z) = (u \circ v) \circ z$, i.e. $G(\circ)$ is a semigroup. On the other hand, $G(\circ)$ is a division groupoid, as it is easy to see, and consequently $G(\circ)$ is a group. Further, $ab = (x \cdot L_x^{-1}(a))b = L_x(L_x^{-1}(a) \circ b)$ for all $a, b \in G$. From this it is obvious that G is a quasigroup and that the unit of $G(\circ)$ is a right unit in G .

(iv) implies (v). By 3.2.

(v) implies (iii). According to 3.2, there are a group $G(\circ)$ and a mapping δ of G onto G such that $ab = a \circ \delta(b)$ for all a, b . Hence $L_y = \gamma_y \delta$ where $\gamma_y(a) = y \circ a$ for all $a \in G$, and consequently δ is a one-to-one mapping (since L_y is so).

(iii) implies (i). Given $a, b \in G$ we have $R_a R_b(z) = zb \cdot a = z \circ \delta(b) \circ \delta(a) = z \circ \delta \delta^{-1}(\delta(b) \circ \delta(a)) = z \circ \delta(c) = R_c(z)$ and $R_a^{-1}(z) = z \circ (\delta(a))^{-1} = z \circ \delta \delta^{-1}(\delta(a))^{-1} = z \circ \delta(d) = R_d(z)$ for all $z \in G$.

3.4. Corollary. Let G be a groupoid. Then the following are equivalent:

- (i) G is $\tilde{\Lambda}$ and \tilde{R} -transitive.
- (ii) G is a division groupoid, $A_G = \{R_x \mid x \in G\} \cup \{1_G\}$ and $B_G = \{L_x \mid x \in G\} \cup \{1_G\}$.
- (iii) G is a group.

Proof. (i) implies (iii). Since G is $\tilde{\Lambda}$, \tilde{R} -transitive, G is a division groupoid, and consequently G has a unit (by 3.1). So G is a group (see [4, Theorem 3]).

(ii) implies (iii). By the hypothesis there are two mappings $\alpha, \beta: G \times G \rightarrow G$ such that $ab \cdot c = a \cdot \alpha(b, c)$ and $b \cdot ca = \beta(b, c) \cdot a$ for all $a, b, c \in G$. Hence $R_c \in R_G$ and $L_b \in A_G$; all $b, c \in G$. Since G is a division groupoid, G is Λ -transitive and R -transitive. By 2.10, any mapping from R_G and A_G is a permutation and therefore G is a quasigroup. Applying 3.3 (and the dual theorem) we see that G possesses a unit and so it is a group ([4, Theorem 3]).

(iii) implies (i) and (ii) trivially.

4. Applications. If G is a groupoid and $x_1, \dots, x_n \in G$, then we set

$$(x_1, \dots, x_n) = x_1(x_2(x_3(\dots x_{n-2}(x_{n-1} \cdot x_n))))$$

$$[x_1, \dots, x_n] = (((x_1 x_2) x_3) \dots x_{n-2}) x_{n-1}) x_n.$$

4.1. Proposition. Let G be a groupoid. Then the following statements are equivalent:

- (i) G is a division groupoid and there exists $n \geq 3$ such that $(x_1, \dots, x_n) = (x_1, \dots, x_{n-1}) \cdot x_n$ for all $x_1, \dots, x_n \in G$.
- (ii) There are a group $G(\circ)$ and an automorphism δ of $G(\circ)$ such that $\delta^{n-2} = 1_G$ and

$ab = a \circ \delta(b)$ for all $a, b \in G$. In this case G is a quasigroup and δ is an automorphism of G .

Proof. (i) implies (ii). We have, for all $x_1, \dots, x_{n-2}, a, b \in G$,
 $L_{x_1}L_{x_2} \dots L_{x_{n-2}}(ab) = (x_1, \dots, x_{n-2}, a, b) = (x_1, \dots, x_{n-2}, a) \cdot b =$
 $= L_{x_1}L_{x_2} \dots L_{x_{n-2}}(a) \cdot b$. Hence $L_{x_1}L_{x_2} \dots L_{x_{n-2}} \in \tilde{\Lambda}_G$ and since G is a division groupoid, G is $\tilde{\Lambda}$ -transitive. According to 3.2, there exist a group $G(\circ)$ and a mapping δ of G onto G such that $ab = a \circ \delta(b)$ for all $a, b \in G$. Further, G has a right unit j and with respect to [4, Theorem 11] and [4, Lemma 15] we may assume (without loss of generality) that j is also the unit element in $G(\circ)$ and $\delta(j) = j$. Now let us write $\delta^{n-1}(a) =$
 $= j \circ \delta(j \circ \delta(j \circ \delta(\dots \delta(j \circ \delta(a)))))) = (j, \dots, j, a) = (j, \dots, j) \cdot a = ja = \delta(a)$.
 So $\delta^{n-1} = \delta$. However δ is a mapping onto G , and hence $\delta^{n-2} = 1_G$. In particular, δ is a quasigroup. Finally $\delta(a \circ b) = \delta(a \circ \delta^{n-2}(b)) =$
 $= j \circ \delta(a \circ \delta(j \circ \delta(\dots \delta(j \circ \delta(b)))))) = (j, a, j, \dots, j, b) = (j, a, j, \dots, j) \cdot b = ja \cdot b =$
 $= \delta(a) \circ \delta(b)$. Thus δ is an automorphism of $G(\circ)$ and consequently of G , too.

(ii) implies (i). If $x_1, \dots, x_n \in G$, then by the hypothesis

$$\begin{aligned} (x_1, \dots, x_n) &= x_1 \circ \delta(x_2 \circ \delta(\dots \delta(x_{n-1} \circ \delta(x_n)))) = \\ &= x_1 \circ \delta(x_2) \circ \delta^2(x_3) \circ \dots \circ \delta^{n-2}(x_{n-1}) \circ \delta^{n-1}(x_n) = \\ &= x_1 \circ \delta(x_2 \circ \delta(x_3 \circ \delta(\dots \delta(x_{n-2} \circ \delta(x_{n-1})))))) \circ \delta(x_n) = (x_1, \dots, x_{n-1}) \cdot x_n, \end{aligned}$$

and we are through.

4.2. Proposition. Let G be a division groupoid satisfying the identity $(x_1, \dots, x_n) = [x_1, \dots, x_n]$ for some $n \geq 3$. Then G is a group.

Proof. We see immediately that $L_{x_1}L_{x_2} \dots L_{x_{n-2}} \in \Lambda_G$ and $R_{x_1}R_{x_2} \dots R_{x_n} \in R_G$ for all $x_1, \dots, x_n \in G$. Since G is a division groupoid, G is Λ and R -transitive. Hence, by 2.10, any mapping from Λ_G and R_G is a permutation, and therefore G is a quasigroup. Now, according to [2, Theorem 4], there are a group $G(\circ)$, $\varphi, \psi \in \text{Aut } G(\circ)$ and $c \in G$ such that $ab = \varphi(a) \circ c \circ \psi(b)$ for all $a, b \in G$.

Hence

$$\begin{aligned} \varphi(x_1) \circ c \circ \psi\varphi(x_2) \circ \psi(c) \circ \dots \circ \psi^{n-2}\varphi(x_{n-1}) \circ \psi^{n-2}(c) \circ \psi^{n-1}(x_n) = \\ = \varphi^{n-1}(x_1) \circ \varphi^{n-2}(c) \circ \varphi^{n-2}\psi(x_2) \circ \dots \circ \varphi(c) \circ \varphi\psi(x_{n-1}) \circ c \circ \psi(x_n) \text{ for all } \\ x_1, \dots, x_n \in G. \text{ In particular, } \varphi(x_1) = \varphi^{n-1}(x_1) \text{ for each } x_1 \in G, \text{ and so } \varphi^{n-2} = 1_G. \\ \text{Further, } \varphi(x_1) \circ c \circ \psi\varphi(x_2) = \varphi^{n-1}(x_1) \circ \varphi^{n-2}(c) \circ \varphi^{n-2}\psi(x_2) = \varphi(x_1) \circ c \circ \psi(x_2), \\ \text{i.e. } \psi\varphi(x_2) = \psi(x_2). \text{ From this, } \varphi = 1_G. \text{ Similarly } \psi = 1_G, \text{ and consequently } G \text{ is} \\ \text{a group.} \end{aligned}$$

References

- [1] В. Д. БЕЛОУСОВ: Регулярные подстановки в квазигруппах, Уч. зап. Бельцкого пед. ин.-ма, 1958, вып. 1, 39—48.
- [2] В. Д. БЕЛОУСОВ: Уровнөөшенные тождества в квазигруппах, Матем. сборник 70(1966), 55—97.
- [3] В. Е. JOHNSON: An introduction to the theory of centralisers, Proc. London Math. Soc. 14 (1964), 299—320.
- [4] Т. КЕРКА: Regular mappings of groupoids, Acta Univ. Carol., Math. Phys. 12 (1971), 25—37.